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X-12-ARIMA

() (Spec File)
series{
file=" "
start=2000.1
span=(2000.1,2015.12)
period=12

transform{ function=log }
regression{
variables = ( #(3) ARIMA

)
}

arimaf{

model= #(3) ARIMA
}

estimate { }
forecast{

maxBack=0

maxLead=0 # 12 0
}

outlier {
span=(2014.1,2015.12)
} # ?”regression’”
x11{

sigmaLim=(1.5 3)

appendFcst=yes

save=(d10 d11 d16)

}

# 7”UserType”~ *”holiday~”~

T+

&)

1,0000
09000 2000 —»,

0.8000 13

0.7000 o
0.6000 13
05000
04000
0.3000
0.2000
0.1000
0.0000

1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 2015
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y = exp((x - > )/ (1 exp((x - )> )



3) ARINA

ARIMA

110)012)

tdnolpyear Ipyear

jholiday-m200113

LS2000.Dec LS2001.Apr AO2008.Jan
LS2010.Apr LS2011.Mar AO2014.Mar

LS2001.Mar AO2008.Nov LS2011.Mar

210)011)

tdnolpyear Ipyear

jholiday-m200113

LS2001.Apr AO2008.Jul LS2010.Apr

011)(211) | tdlcoef jholiday AO2014.Mar AO2014.Apr
(011)(011) m200113 AO02014.Mar

(111)011) m200113 L.S2015.Sep

(011)(112) AO02014.Feb AO2014.Mar
(011)011) | tdicoef A02014.Jan A02014.Mar
(012)011) | td A02010.Aug AO2014.Mar
(011)(011) | tdnolpyear jholiday-m200213 LS2011.Mar AO2014.Mar
01112 | tdnolpyear m200113 k%é%%ﬁﬁ‘gﬁégg?g; ;)AOZOll.Sep
011)011) A02010.Nov LS2011.Mar AO2014.Mar
(011)011) | tdlnolpyear m200013 A02000.Dec

(212)(012) | tdinolpyear m200013 A02014.Mar

210

LS2011.Mar LS2012 Jun AO2014 Mar

012110

tdnolpyear Ipyear

jholiday-m200113

LS2000.Dec LS2001.Apr AO2008.Jan
LS2010.Apr LS2011.Mar AO2013.Mar
AO2014.Mar LS2014.Apr AO2015.Mar

(111)011) | tdicoef jholiday A02007.Jan AO2014.Mar AO2014.Apr
(011)011) m200113 AO02014.Mar

(111)(011) m200113

011112 A02014.Mar LS2014.Apr
(011)(011) | tdlcoef A02014.Jan AO2014.Mar LS2015.0ct
(012)011) | td A02010.Aug AO2014.Mar
(011)012) | tdnolpyear jholiday-m200213 LS2011.Mar LS2012.Feb AO2014 Mar
(012)011) | tdnolpyear m200113 LS2001.Apr AO2007.Apr AO2013.Sep
(011)(211) A02010.Nov LS2011.Mar AO2014.Mar
(212)(012) | tdinolpyear m200013 A02014.Mar

(111)011) ] tdnolpyear Ipyear | jholiday-m200113 IA%ZZ%OIJX‘;\‘A‘); rLLSS2200110 ﬁf{; rLSZOlllMar
(011)011) 152006.0ul

(110)(011) | tdnolpyear Ipyear | jholiday-m200113 %_222%(1%5:%? tggggiag: ﬁggggiiﬁl
(012)(011) LS2006.Jul

(011)011) 1.52006.Jul

aA11@11)

tdnolpyear Ipyear

jholiday-m200113

LS2000.Dec LS2001.Apr AO2008.Jan
TC2010.Apr LS2011.Mar AO2014.Mar
LS2014.Apr

012)(011)

LS2006.Jul

*”jholiday”” *myyyynn=?
X-12-ARIMA Reference Manual

(yyyy

U.S. Census Bureau

nn (n.n))




